ITI Wireman 2nd Year Module 2 Industrial Wiring

(1). Why power and control wiring is to be run in a separate conduit in industrial
motor wiring? | TTaR 3R deld arRTT ®I SN HIex aRIT H T T
gy H I I ST 87

(A) For easy maintenance | WW%%‘I’Q
(B) To avoid current radiation | WW@W%%’Q
(C) For easy identification | WW%%’Q

(D) To reduce the voltage drop | alee ol \§Tl-{ HH P %%I'Q

Correct Answer : B

(2). Which is the purpose of control wiring? | WWW 3%5231 a:CIT%?
(A) To limit the load current | Fﬁ@'ﬁ?%ﬂﬁﬁﬁ%%ﬁ

(B) To increase the motor input voltage | Hic <14c diecol e %ﬁ'l'q

(C) To communicate the commands to control devices | IUDBUN B FEfd
DR & T HHIS DY BT

(D) To measure the load current | TS ®H¢ Pl AU & folg

Correct Answer : C

(3). What is the advantages of bus bar system? | §9 §R YOI o o aTH %?
(A) Less expensive | T A

(B) Less maintenance | H drRd[d

(C) Occupies less space | P H viile ] %

(D) Easy addition and alterations | GW'I:[\_Fh—S' 3R ufad



Correct Answer : D

(4). Why single core cables are without armour? | R PR padt AHR & fo
R gId 52

(A) To avoid heat loss | THT & I ¥ §a & forQ

(B) To avoid excessive sheath losses | WW@T&T@W%W

(C) To avoid mechanical injury | Wﬁ?ﬁaﬂ%{%ﬁﬂ

(D) To reduce the weight of cable | B BT goi HH B %]%’I'Q

Correct Answer : B

(5). Which size of Gl conductor is used for Earthing to the motor from the main

electrode? | H@ﬁa@gﬁﬁa$m 34T foru Sftars peaex & vy
3THR BT SUANT fHaT ST 82

(A) 14 SWG
(B) 10 SWG
(C) 8SWG
(D) 4SWG

Correct Answer : C

(6). Which is the reason for using bus bar system in workshop for power

distribution? | foreTelt fadRuT & forw Sri=er # 99 SR YUITelt &1 SUTNT B34 BT
HRUIFTG?

(A) Occupy less space | P H Sli[g Rl
(B) Give neat appearance | W—ﬁwm

(C) Easy addition and alterations | ST T \51.\I$"II 3R SIAGEI



(D) Withstand over load | 3{TaR @IS T JTHAT BT

Correct Answer : C

(7). Which type of reflector is used for yard lighting? | TS UBT OLIOI%UT%]%I'Q

fF9 UPR & WRIddd BT IUANT fhaT STl 82

(A) Dispersive type | aOQ'HOIQN UpIR

(B) Parabolic type | TRARI® UHR
(C) Mirror type | U YHR
(D) Soft light type | Xfddl UHTRI UHR

Correct Answer : C

(8). What is the name of electrical accessory used for UG cable? | UG W%ﬁ‘ﬂ
TRIad fagdd Ted SUBRU 6l 11 H1 62

(A) Single compression cable gland | Wﬂtﬂﬁmﬂﬁ[
(B) Grommet | DIEE A

(C) PVC cable gland | PVC HEd Ul
(D) Double compression cable gland | WWWW

Correct Answer : D

(9). What is the advantage of crimping? | WWWW%?



(A) Easy to replace | gfauTiUd BT &N'I:f%

(B) To avoid loose connections | oIl BRI T34 %ﬁ'l'q
(C) Occupies less space | WWW%

(D) For neat appearance | W-ﬁﬁ@@ﬁ%%ﬂ

Correct Answer : B

(10). Which wiring is preferred for motor connection in industries? | ﬁtﬁﬁ

IRIRAT ST H Hiex h-1aRH & T Ue &1 S1d1 82
(A) CTS wiring | CTS araRT

(B) TRS wiring | TRS AR
(C) PVC conduct wiring | PVCWW

(D) Metal conduct wiring | B ®gdc AR

Correct Answer : D

(11). What is the working principle of loop test? | (U X BB R—Ic&id ] %?

(A) Kirchhoff's current law | EXEItCAGREIR A

(B) Kirchhoff's voltage law | faIt &1 dlee sl MaH

(C) Wheatstone bridge | OE?IC%C\I"I Y
(D) Ohm's law | Gh'qw

Correct Answer : C

(12). How the size of cable is determined for a load? | Fﬁ@'%ﬁ‘ﬂ%ﬂﬁ HIhR
&Y i fear srar g»

(A) Load power factor | IS UTaR Thaex



(B) Load current | @IS ®C
(C) Voltage of circuit | gfdhe BT dleedl

(D) Type of load | TS BT UBR

Correct Answer : B

-~

(13). What is the voltage of super tension cables? | ﬁCITé'Q'F[ HEd BT diceol

fPaTelarg?

(A) Upto 1100V

(B) Upto 11KV
(C) 22 KVto33KV
(D) 33to 66KV

Correct Answer : C

(14). Which type of cable is used up to 11kv? | 11kv d® [T UHR Bl had ol

ST a1 STt 62
(A) Belted cables | see aTed Hed
(B) Gas pressure cables | %WW

(C) Screened cables | @ﬂl"lgdd HEd

(D) Oilfilled cables | 98 T HY Had

Correct Answer : A



(15). What is the name of electrical accessory? | ﬁ?ﬂﬂ el SUD U] Dbl [d[H

(A) Conduit coupling | d)S?z]\d Obgi?’i‘l

(B) Conduit check out | o'bsqg GCARvIG K ep!
(C) Cable gland | Had Ul
(D) PVC flexible gland | PVC aIdTelt UfY

Correct Answer : C

(16). Which is the cause for UG cable fault? | UG Wﬁwﬁwww%?

(A) Insulation failure | ‘ér{:l(}i-?l'-l [Amad

(B) Voltage fluctuation | d\lc%\vlﬁddli-dcéld
(C) Rated current | FRCICS
(D) More length | Wm

Correct Answer : A

(17). How many two way switches are required in godown wiring circuit to control

four lamps? | WW@WW%WWWWﬁW@%
e 1 STy e gId 82



(A) 5
(B) 4
(C) 3
(D) 2

Correct Answer : C

(18). What is the purpose of bonding? | SIS BT 3%5221 ERTIT%?

(A) To provide high resistance path for leakage current | WW$%MW
TIRIY T T Al

(B) To provide high reactance path for leakage current | Fﬂ%ﬁ?%ﬁﬂﬁ
giafehan Uy Uer &1

(C) To provide a low resistance path for leakage current | Fﬂ%ﬂ?%ﬁﬂm
UTaRIY U U =T

(D) To provide high resistance path for the supply | @ﬂ'{ﬁ%mﬁmﬂqﬂ
Ul DAl

Correct Answer : C

(19). What is the distance the bus bar support is spaced in panel board? | a:IT“T

SIS 7 99 IR YU ford-T g IR 82

(A) 200mm

(B) 400mm
(C) 600mm
(D) 800mm

Correct Answer : C



(20). Which material is used for making bus bar support? | I IR UK g1 &
fore fore Tyl &1 SugT foan S 82

(A) Wood | W

(B) Porcelain | i1 firedt
(C) Rubber | Xds

(D) PVC

Correct Answer : B

(21). Which type of reflector is suitable for damp and corrosive atmosphere? |

o TR &1 IRIad® 8 3R Y&Re araravul & it Iugad g2
(A) Mirror type | E&UTW

(B) Soft light type | I UHTI UBR

(C) Parabolic type | WRIATD UHR

(D) Dispersive type | TATdER UPHR

Correct Answer : D

(22). Which accessory is used to attach and secure the end of an electrical cable

with equipment? | SUHRUI & 1Y faggd had & RR B SIS SR R B
& foru 5T Terae IUHRUI ST UL foar Sirar g2

(A) Cable binding straps and button | WWW@TW
(B) Nylon cable time | TI@IT Hhad I

(C) Cable gland | Had Ul

(D) Wire sleeves | dIX 3T

Correct Answer : C



(23). What is the name of the fault if the insulation between two conductor is

faulty? | Tfe G HSaeR] & g IGARA SIoYUf § Y SN BT ATH 1 82
(A) Open circuit fault | 3109 Tfdhe Gy

(B) Short circuit fault | Q¢ Afdhe &Iy

(C) Ground fault | 3 G

(D) Leakage fault | @ G

Correct Answer : B

(24). Which material is used for bonding? | W%%’Qmmﬁmﬂ
foraT STaT 82

(A) Tungsten wire | ST dR

(B) Copper wire | did BT dR

(C) Nichrome wire | Wﬂﬂ

(D) Aluminium wire | H@ﬂﬁ'ﬂﬁﬂﬂ

Correct Answer : B

(25). What is the expansion of IP rating? | IP WWWW%?
(A) Ingress Protection

(B) Ingress Protocol

(C) Input Protection

(D) Internet Protocol

Correct Answer : A






